Summary of Bids Received Project: Wadsworth Rd at Kilbourne Rd Intersection Section: 17-00033-17-CH Description: Intersection Improvement w/ turn lanes & sidewalk; Kilbourne Rd Resurfacing CPMS Pin: B-01576 Let Date: 2/7/2023													
Bidder Payne & Dolan, Inc. Campanella & Sons, Inc. Peter Baker & Son Company	Address 28435 W. Route 173 39207 N Magnetics Blvd 1349 Rockland Road	City, State, Zip Antioch, IL 60002 Wadsworth, IL 60083 Lake Bluff, IL 60044	Bond Bid Bond Bid Bond Bid Bond	Bid Price \$4,556,954.58 \$4,650,147.28 \$4,716,967.90	-1.31% 0.11%	\$ Over/Under Eng. Estimate -\$155,032.3 -\$61,839.6 \$4,980.9							
Engineer's Estimate				\$4,711,986.95									
Design	IDOT(2)	Contract Bidder	C	County Engineer									
Finance	Bid Tab File	Resident Eng.	N	lgr Capital Progra	mming								
Construction	Project File	Request By Mail											

Return Bid Tabulation

Project: Wadsworth Rd at Kilbourne Rd Intersection

Section: 17-00033-17-CH

Description: Intersection Improvement w/ turn lanes & sidewalk; Kilbourne Rd Resurfacing

CPMS Pin: B-01576

ltem	Pay Code	Description	Quantity	Unit	Eng Es	timate	Campanella a	& Sons, Inc.	Payne & D	olan, Inc.	Peter Baker &	Son Company
No.	l uj couc		Quantity	onit	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	20101100	TREE TRUNK PROTECTION	35.0	EACH	\$140.00	\$4,900.00	\$172.00	\$6,020.00	\$110.00	\$3,850.00	\$110.00	\$3,850.00
2	20101200	TREE ROOT PRUNING	35.0	EACH	\$115.00	\$4,025.00	\$110.00	\$3,850.00	\$110.00	\$3,850.00	\$110.00	\$3,850.00
3	20101300	TREE PRUNING (1 TO 10 INCH DIAMETER)	17.0	EACH	\$125.00	\$2,125.00	\$45.00	\$765.00	\$45.00	\$765.00	\$45.00	\$765.00
4		TREE PRUNING (OVER 10 INCH DIAMETER)	18.0	EACH	\$180.00	\$3,240.00	\$180.00	\$3,240.00	\$180.00	\$3,240.00	\$180.00	\$3,240.00
5	20200100	EARTH EXCAVATION	4,516.0	CU YD	\$35.00	\$158,060.00	\$54.20	\$244,767.20	\$37.00	\$167,092.00	\$54.20	\$244,767.20
6		REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL	4,275.0	CU YD	\$35.00	\$149,625.00	\$50.55	\$216,101.25	\$23.00	\$98,325.00	\$50.55	\$216,101.25
7	20400800	FURNISHED EXCAVATION	250.0	CU YD	\$35.00	\$8,750.00	\$27.00	\$6,750.00	\$66.00	\$16,500.00	\$27.00	\$6,750.00
8	20800150	TRENCH BACKFILL	176.0	CU YD	\$50.00	\$8,800.00	\$79.60	\$14,009.60	\$70.00	\$12,320.00	\$79.60	\$14,009.60
9		GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	5,107.0	SQ YD	\$2.50	\$12,767.50	\$2.55	\$13,022.85	\$4.00	\$20,428.00	\$2.55	\$13,022.85
10		TOPSOIL FURNISH AND PLACE, VARIABLE DEPTH	827.0	SQ YD	\$10.00	\$8,270.00	\$36.70	\$30,350.90	\$0.10	\$82.70	\$6.00	\$4,962.00
11	21101615	TOPSOIL FURNISH AND PLACE, 4"	15,259.0	SQ YD	\$6.00	\$91,554.00	\$0.10	\$1,525.90	\$0.10	\$1,525.90	\$4.00	\$61,036.00
12	21301052	EXPLORATION TRENCH 52" DEPTH	100.0	FOOT	\$50.00	\$5,000.00	\$95.00	\$9,500.00	\$62.00	\$6,200.00	\$95.00	\$9,500.00
13	21400100	GRADING AND SHAPING DITCHES	599.0	FOOT	\$20.00	\$11,980.00	\$38.45	\$23,031.55	\$12.00	\$7,188.00	\$38.45	\$23,031.55
14	25000210	SEEDING, CLASS 2A	2.3	ACRE	\$4,950.00	\$11,385.00	\$3,000.00	\$6,900.00	\$2,420.00	\$5,566.00	\$3,600.00	\$8,280.00
15	25000300	SEEDING, CLASS 3	0.5	ACRE	\$3,600.00	\$1,800.00	\$3,000.00	\$1,500.00	\$2,420.00	\$1,210.00	\$5,000.00	\$2,500.00
16	25000312	SEEDING, CLASS 4A	0.3	ACRE	\$2,500.00	\$750.00	\$4,900.00	\$1,470.00	\$2,420.00	\$726.00	\$3,000.00	\$900.00

Return Bid Tabulation

Project: Wadsworth Rd at Kilbourne Rd Intersection

Section: 17-00033-17-CH

Description: Intersection Improvement w/ turn lanes & sidewalk; Kilbourne Rd Resurfacing

CPMS Pin: B-01576

ltem	Pay Code	Description	Quantity	Unit	Eng Est	timate	Campanella	& Sons, Inc.	Payne & D	olan, Inc.	Peter Baker &	Son Company
No.			j		Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
17	25000314	SEEDING, CLASS 4B	0.3	ACRE	\$6,400.00	\$1,920.00	\$4,000.00	\$1,200.00	\$2,420.00	\$726.00	\$3,800.00	\$1,140.00
18	25000400	NITROGEN FERTILIZER NUTRIENT	306.0	POUND	\$3.00	\$918.00	\$2.00	\$612.00	\$1.00	\$306.00	\$3.00	\$918.00
19	25000600	POTASSIUM FERTILIZER NUTRIENT	306.0	POUND	\$3.00	\$918.00	\$2.00	\$612.00	\$1.00	\$306.00	\$3.00	\$918.00
20	25100630	EROSION CONTROL BLANKET	16,456.0	SQ YD	\$2.00	\$32,912.00	\$1.20	\$19,747.20	\$8.05	\$132,470.80	\$1.40	\$23,038.40
21	20000260	TEMPORARY EROSION CONTROL SEEDING	32.0	POUND	\$3.00	\$96.00	\$20.00	\$640.00	\$0.10	\$3.20	\$10.00	\$320.00
22	28000305	TEMPORARY DITCH CHECKS	308.0	FOOT	\$12.00	\$3,696.00	\$12.50	\$3,850.00	\$15.00	\$4,620.00	\$14.00	\$4,312.00
23	28000400	PERIMETER EROSION BARRIER	200.0	FOOT	\$10.00	\$2,000.00	\$5.30	\$1,060.00	\$5.00	\$1,000.00	\$3.50	\$700.00
24	28000510	INLET FILTERS	8.0	EACH	\$200.00	\$1,600.00	\$261.00	\$2,088.00	\$225.00	\$1,800.00	\$190.00	\$1,520.00
25	28001100	TEMPORARY EROSION CONTROL BLANKET	13,517.0	SQ YD	\$1.00	\$13,517.00	\$0.01	\$135.17	\$0.50	\$6,758.50	\$0.20	\$2,703.40
26	28100109	STONE RIPRAP, CLASS A5	81.0	SQ YD	\$65.00	\$5,265.00	\$263.00	\$21,303.00	\$170.00	\$13,770.00	\$263.00	\$21,303.00
27	28200200	FILTER FABRIC	220.0	SQ YD	\$15.00	\$3,300.00	\$3.15	\$693.00	\$3.00	\$660.00	\$3.15	\$693.00
28	30300112	AGGREGATE SUBGRADE IMPROVEMENT 12"	4,777.0	SQ YD	\$20.00	\$95,540.00	\$30.40	\$145,220.80	\$20.00	\$95,540.00	\$30.40	\$145,220.80
29		AGGREGATE BASE COURSE, TYPE B 4"	914.0	SQ YD	\$8.00	\$7,312.00	\$16.95	\$15,492.30	\$12.00	\$10,968.00	\$16.95	\$15,492.30
30	35101800	AGGREGATE BASE COURSE, TYPE B 6"	18,643.0	SQ YD	\$10.00	\$186,430.00	\$15.00	\$279,645.00	\$15.00	\$279,645.00	\$14.70	\$274,052.10
31	40201000	AGGREGATE FOR TEMPORARY ACCESS	490.0	TON	\$20.00	\$9,800.00	\$0.01	\$4.90	\$40.00	\$19,600.00	\$0.01	\$4.90
32	40600290	BITUMINOUS MATERIALS (TACK COAT)	33,641.0	POUND	\$1.00	\$33,641.00	\$0.01	\$336.41	\$0.01	\$336.41	\$0.01	\$336.41
33	40600370	LONGITUDINAL JOINT SEALANT	18,021.0	FOOT	\$3.00	\$54,063.00	\$4.55	\$81,995.55	\$2.85	\$51,359.85	\$4.50	\$81,094.50

Return Bid Tabulation

Project: Wadsworth Rd at Kilbourne Rd Intersection

Section: 17-00033-17-CH

Description: Intersection Improvement w/ turn lanes & sidewalk; Kilbourne Rd Resurfacing

CPMS Pin: B-01576

Item	Pay Code	Description	Quantity	Unit	Eng Es	timate	Campanella	& Sons, Inc.	Payne & D	olan, Inc.	Peter Baker &	Son Company
No.					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
34	40600400	MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	10.0	TON	\$300.00	\$3,000.00	\$200.00	\$2,000.00	\$500.00	\$5,000.00	\$200.00	\$2,000.00
35	40600900	HOT-MIX ASPHALT BINDERCOURSE (HAND METHOD), N50	10.0	TON	\$300.00	\$3,000.00	\$200.00	\$2,000.00	\$500.00	\$5,000.00	\$200.00	\$2,000.00
36	40603080	HOT-MIX ASPHALT BINDER COURSE, IL- 19.0, N50	9,140.0	TON	\$90.00	\$822,600.00	\$74.00	\$676,360.00	\$81.00	\$740,340.00	\$74.00	\$676,360.00
37	40603085	HOT-MIX ASPHALT BINDER COURSE, IL- 19.0, N70	622.0	TON	\$95.00	\$59,090.00	\$131.80	\$81,979.60	\$85.50	\$53,181.00	\$131.80	\$81,979.60
38	40603200	POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50	1,675.0	TON	\$95.00	\$159,125.00	\$109.40	\$183,245.00	\$120.00	\$201,000.00	\$109.40	\$183,245.00
39		HOT-MIX ASPHALT SURFACE COURSE, IL- 9.5, MIX "D", N50	4,824.0	TON	\$90.00	\$434,160.00	\$85.00	\$410,040.00	\$89.00	\$429,336.00	\$85.00	\$410,040.00
40		HOT-MIX ASPHALT SURFACE COURSE, IL- 9.5, MIX "D", N70	358.0	TON	\$95.00	\$34,010.00	\$94.80	\$33,938.40	\$92.00	\$32,936.00	\$94.80	\$33,938.40
41	42001300	PROTECTIVE COAT	1,461.0	SQ YD	\$2.00	\$2,922.00	\$2.00	\$2,922.00	\$2.00	\$2,922.00	\$0.01	\$14.61
42	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	7,463.0	SQ FT	\$8.00	\$59,704.00	\$8.25	\$61,569.75	\$8.25	\$61,569.75	\$9.00	\$67,167.00
43	42400300	PORTLAND CEMENT CONCRETE SIDEWALK 6 INCH	204.0	SQ FT	\$10.00	\$2,040.00	\$8.95	\$1,825.80	\$8.95	\$1,825.80	\$9.50	\$1,938.00
44	42400800	DETECTABLE WARNINGS	10.0	SQ FT	\$50.00	\$500.00	\$37.00	\$370.00	\$37.00	\$370.00	\$40.00	\$400.00
45	44000100	PAVEMENT REMOVAL	11,540.0	SQ YD	\$20.00	\$230,800.00	\$11.90	\$137,326.00	\$19.00	\$219,260.00	\$14.25	\$164,445.00
46	1/10/0168	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/4"	2,368.0	SQ YD	\$3.50	\$8,288.00	\$4.50	\$10,656.00	\$2.70	\$6,393.60	\$4.50	\$10,656.00

Return Bid Tabulation

Project: Wadsworth Rd at Kilbourne Rd Intersection

Section: 17-00033-17-CH

Description: Intersection Improvement w/ turn lanes & sidewalk; Kilbourne Rd Resurfacing

CPMS Pin: B-01576

			г								1	
Item	Pay Code	Description	Quantity	Unit	Eng Es	timate	Campanella	& Sons, Inc.	Payne & D	olan, Inc.	Peter Baker &	Son Company
No.	5				Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
47	44000161	HOT-MIX ASPHALT SURFACE REMOVAL, 3"	31,851.0	SQ YD	\$4.00	\$127,404.00	\$3.60	\$114,663.60	\$3.65	\$116,256.15	\$6.75	\$214,994.25
48	44000200	DRIVEWAY PAVEMENT REMOVAL	1,652.0	SQ YD	\$15.00	\$24,780.00	\$16.20	\$26,762.40	\$8.00	\$13,216.00	\$23.00	\$37,996.00
49	44000400	GUTTER REMOVAL	122.0	FOOT	\$10.00	\$1,220.00	\$6.65	\$811.30	\$12.00	\$1,464.00	\$6.65	\$811.30
50	44000500	COMBINATION CURB AND GUTTER REMOVAL	2,088.0	FOOT	\$10.00	\$20,880.00	\$5.70	\$11,901.60	\$5.00	\$10,440.00	\$5.70	\$11,901.60
51	44000600	SIDEWALK REMOVAL	187.0	SQ FT	\$10.00	\$1,870.00	\$2.50	\$467.50	\$4.00	\$748.00	\$2.50	\$467.50
52	44201785	CLASS D PATCHES, TYPE I, 12 INCH	171.0	SQ YD	\$120.00	\$20,520.00	\$40.00	\$6,840.00	\$95.00	\$16,245.00	\$40.00	\$6,840.00
53	44201789	CLASS D PATCHES, TYPE II, 12 INCH	257.0	SQ YD	\$120.00	\$30,840.00	\$40.00	\$10,280.00	\$95.00	\$24,415.00	\$40.00	\$10,280.00
54	44201794	CLASS D PATCHES, TYPE III, 12 INCH	770.0	SQ YD	\$120.00	\$92,400.00	\$40.00	\$30,800.00	\$95.00	\$73,150.00	\$40.00	\$30,800.00
55	44201796	CLASS D PATCHES, TYPE IV, 12 INCH	513.0	SQ YD	\$120.00	\$61,560.00	\$40.00	\$20,520.00	\$95.00	\$48,735.00	\$40.00	\$20,520.00
56	48101200	AGGREGATE SHOULDERS, TYPE B	2,593.0	TON	\$40.00	\$103,720.00	\$23.00	\$59,639.00	\$44.00	\$114,092.00	\$23.00	\$59,639.00
57	50105220	PIPE CULVERT REMOVAL	289.0	FOOT	\$25.00	\$7,225.00	\$20.00	\$5,780.00	\$25.00	\$7,225.00	\$20.00	\$5,780.00
58	52200800	SEGMENTAL CONCRETE BLOCK WALL	1,350.0	SQ FT	\$50.00	\$67,500.00	\$64.75	\$87,412.50	\$54.67	\$73,804.50	\$60.00	\$81,000.00
59		PRECAST REINFORCED CONCRETE FLARED END SECTIONS 12"	4.0	EACH	\$1,050.00	\$4,200.00	\$1,730.00	\$6,920.00	\$1,329.00	\$5,316.00	\$1,730.00	\$6,920.00
60		PRECAST REINFORCED CONCRETE FLARED END SECTIONS 24"	3.0	EACH	\$1,400.00	\$4,200.00	\$2,640.00	\$7,920.00	\$1,667.00	\$5,001.00	\$2,640.00	\$7,920.00
61	54213672	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 27"	1.0	EACH	\$1,800.00	\$1,800.00	\$2,730.00	\$2,730.00	\$1,842.00	\$1,842.00	\$2,730.00	\$2,730.00

Return Bid Tabulation

Project: Wadsworth Rd at Kilbourne Rd Intersection

Section: 17-00033-17-CH

Description: Intersection Improvement w/ turn lanes & sidewalk; Kilbourne Rd Resurfacing

CPMS Pin: B-01576

ltem	Pay Code	Description	Quantity	Unit	Eng Est	timate	Campanella	& Sons, Inc.	Payne & D	olan, Inc.	Peter Baker &	Son Company
No.	. uj couc		Quantity	onit	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
62	54213681	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 36"	2.0	EACH	\$2,500.00	\$5,000.00	\$4,650.00	\$9,300.00	\$1,991.00	\$3,982.00	\$4,650.00	\$9,300.00
63	54262712	METAL FLARED END SECTIONS 12"	2.0	EACH	\$650.00	\$1,300.00	\$275.00	\$550.00	\$561.00	\$1,122.00	\$275.00	\$550.00
64	54262715	METAL FLARED END SECTIONS 15"	1.0	EACH	\$700.00	\$700.00	\$320.00	\$320.00	\$745.00	\$745.00	\$320.00	\$320.00
65	54262718	METAL FLARED END SECTIONS 18"	3.0	EACH	\$1,950.00	\$5,850.00	\$375.00	\$1,125.00	\$660.00	\$1,980.00	\$375.00	\$1,125.00
66	542A0232	PIPE CULVERTS, CLASS A, TYPE 1 27"	58.0	FOOT	\$120.00	\$6,960.00	\$168.00	\$9,744.00	\$133.00	\$7,714.00	\$168.00	\$9,744.00
67	542A0241	PIPE CULVERTS, CLASS A, TYPE 1 36"	53.0	FOOT	\$175.00	\$9,275.00	\$210.30	\$11,145.90	\$180.00	\$9,540.00	\$210.30	\$11,145.90
68	542A1063	PIPE CULVERTS, CLASS A, TYPE 2 18"	4.0	FOOT	\$90.00	\$360.00	\$256.10	\$1,024.40	\$1,169.00	\$4,676.00	\$256.10	\$1,024.40
69	542A1069	PIPE CULVERTS, CLASS A, TYPE 2 24"	57.0	FOOT	\$105.00	\$5,985.00	\$164.35	\$9,367.95	\$134.00	\$7,638.00	\$164.35	\$9,367.95
70	542D0217	PIPE CULVERTS, CLASS D, TYPE 1 12"	38.0	FOOT	\$80.00	\$3,040.00	\$145.00	\$5,510.00	\$105.00	\$3,990.00	\$145.00	\$5,510.00
71	542D0220	PIPE CULVERTS, CLASS D, TYPE 1 15"	45.0	FOOT	\$85.00	\$3,825.00	\$173.30	\$7,798.50	\$87.00	\$3,915.00	\$173.30	\$7,798.50
72	542D0223	PIPE CULVERTS, CLASS D, TYPE 1 18"	52.0	FOOT	\$90.00	\$4,680.00	\$194.35	\$10,106.20	\$96.00	\$4,992.00	\$194.35	\$\$10,106.20
73	550A0050	STORM SEWERS, CLASS A, TYPE 1 12"	277.0	FOOT	\$85.00	\$23,545.00	\$76.95	\$21,315.15	\$86.00	\$23,822.00	\$76.95	\$21,315.15
74	550A0070	STORM SEWERS, CLASS A, TYPE 1 15"	115.0	FOOT	\$95.00	\$10,925.00	\$85.00	\$9,775.00	\$157.00	\$18,055.00	\$85.00	\$9,775.00
75	55100700	STORM SEWER REMOVAL 15"	102.0	FOOT	\$21.00	\$2,142.00	\$28.00	\$2,856.00	\$26.00	\$2,652.00	\$28.00	\$2,856.00
76	60100905	PIPE DRAINS 4"	100.0	FOOT	\$45.00	\$4,500.00	\$37.00	\$3,700.00	\$51.00	\$5,100.00	\$37.00	\$3,700.00
77	60100915	PIPE DRAINS 6"	100.0	FOOT	\$40.00	\$4,000.00	\$44.00	\$4,400.00	\$70.00	\$7,000.00	\$44.00	\$4,400.00
78	60108104	PIPE UNDERDRAINS, TYPE 1, 4"	2,959.0	FOOT	\$20.00	\$59,180.00	\$5.70	\$16,866.30	\$16.00	\$47,344.00	\$5.70	\$16,866.30

Project: Wadsworth Rd at Kilbourne Rd Intersection

Section: 17-00033-17-CH

Description: Intersection Improvement w/ turn lanes & sidewalk; Kilbourne Rd Resurfacing

CPMS Pin: B-01576

Let Date: 2/7/2023

Item	Pay Code	Description	Quantity	Unit	Eng Es	timate	Campanella	& Sons, Inc.	Payne & D	olan, Inc.	Peter Baker &	Son Company
No.	Tay Couc	Description	Quantity	onit	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
79	60201340	CATCH BASINS, TYPE A, 4'-DIAMETER, TYPE 24 FRAME AND GRATE	1.0	EACH	\$3,800.00	\$3,800.00	\$4,021.00	\$4,021.00	\$4,126.00	\$4,126.00	\$4,021.00	\$4,021.00
80	60.208.2/01	CATCH BASINS, TYPE C, TYPE 24 FRAME AND GRATE	4.0	EACH	\$2,000.00	\$8,000.00	\$2,721.00	\$10,884.00	\$2,837.00	\$11,348.00	\$2,721.00	\$10,884.00
81	60250200	CATCH BASINS TO BE ADJUSTED	1.0	EACH	\$730.00	\$730.00	\$500.00	\$500.00	\$1,145.00	\$1,145.00	\$500.00	\$500.00
82	60260100	INLETS TO BE ADJUSTED	3.0	EACH	\$500.00	\$1,500.00	\$500.00	\$1,500.00	\$762.00	\$2,286.00	\$500.00	\$1,500.00
83	60500040	REMOVING MANHOLES	1.0	EACH	\$320.00	\$320.00	\$700.00	\$700.00	\$1,687.00	\$1,687.00	\$700.00	\$700.00
84	60605000	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24	1,412.0	FOOT	\$35.00	\$49,420.00	\$52.00	\$73,424.00	\$52.00	\$73,424.00	\$48.00	\$67,776.00
85	64200108	SHOULDER RUMBLE STRIPS, 8 INCH	23,162.0	FOOT	\$1.00	\$23,162.00	\$0.50	\$11,581.00	\$0.25	\$5,790.50	\$0.70	\$16,213.40
86	66900200	NON-SPECIAL WASTE DISPOSAL	15.0	CU YD	\$100.00	\$1,500.00	\$108.00	\$1,620.00	\$45.00	\$675.00	\$108.00	\$1,620.00
87	66900530	SOIL DISPOSAL ANALYSIS	1.0	EACH	\$1,000.00	\$1,000.00	\$1,400.00	\$1,400.00	\$1,450.00	\$1,450.00	\$1,400.00	\$1,400.00
88	66901001	REGULATED SUBSTANCES PRE- CONSTRUCTION PLAN	1.0	LSUM	\$1,500.00	\$1,500.00	\$3,400.00	\$3,400.00	\$2,400.00	\$2,400.00	\$3,400.00	\$3,400.00
89	66901003	REGULATED SUBSTANCES FINAL CONSTRUCTION REPORT	1.0	L SUM	\$500.00	\$500.00	\$500.00	\$500.00	\$2,000.00	\$2,000.00	\$500.00	\$500.00
90	66901006	REGULATED SUBSTANCES MONITORING	1.0	CAL DAY	\$1,500.00	\$1,500.00	\$800.00	\$800.00	\$850.00	\$850.00	\$800.00	\$800.00
91	67100100	MOBILIZATION	1.0	L SUM	\$259,000.00	\$259,000.00	\$453,000.00	\$453,000.00	\$400,000.00	\$400,000.00	\$285,337.00	\$285,337.00
92	70300100	SHORT TERM PAVEMENT MARKING	10,671.0	FOOT	\$1.00	\$10,671.00	\$0.50	\$5,335.50	\$0.01	\$106.71	\$0.50	\$5,335.50
93	70.300160	SHORT TERM PAVEMENT MARKING REMOVAL	1,174.0	SQ FT	\$1.00	\$1,174.00	\$1.50	\$1,761.00	\$0.01	\$11.74	\$0.01	\$11.74

Return Bid Tabulation

Return Bid Tabulation

Project: Wadsworth Rd at Kilbourne Rd Intersection

Section: 17-00033-17-CH

Description: Intersection Improvement w/ turn lanes & sidewalk; Kilbourne Rd Resurfacing

CPMS Pin: B-01576

			[Eng Es	timate	Campanella	& Sons Inc	Payne & D	olan Inc	Peter Baker &	Son Company
Item No.	Pay Code	Description	Quantity	Unit		linate	Campanena	a oons, me.	r ayne a E	olan, me.	r eter Daker d	Son Company
110.					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
94	70307100	TEMPORARY PAVEMENT MARKING LETTERS AND SYMBOLS-TYPE IV TAPE	72.8	SQ FT	\$4.00	\$291.20	\$7.50	\$546.00	\$7.50	\$546.00	\$3.30	\$240.24
95	70307120	TEMPORARY PAVEMENT MARKING - LINE 4" - TYPE IV TAPE	12,249.0	FOOT	\$1.50	\$18,373.50	\$1.15	\$14,086.35	\$1.15	\$14,086.35	\$1.10	\$13,473.90
96		TEMPORARY PAVEMENT MARKING-LINE 5"-TYPE IV TAPE	9,093.0	FOOT	\$1.50	\$13,639.50	\$1.45	\$13,184.85	\$1.45	\$13,184.85	\$1.25	\$11,366.25
97	70307130	TEMPORARY PAVEMENT MARKING-LINE 6"-TYPE IV TAPE	215.0	FOOT	\$2.00	\$430.00	\$2.00	\$430.00	\$2.00	\$430.00	\$1.35	\$290.25
98	70307210	TEMPORARY PAVEMENT MARKING - LINE 24"- TYPE IV TAPE	50.0	FOOT	\$7.00	\$350.00	\$7.50	\$375.00	\$7.50	\$375.00	\$6.60	\$330.00
99	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	219.0	SQ FT	\$6.00	\$1,314.00	\$5.00	\$1,095.00	\$5.00	\$1,095.00	\$5.00	\$1,095.00
100	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	3,802.0	FOOT	\$1.00	\$3,802.00	\$0.95	\$3,611.90	\$0.95	\$3,611.90	\$0.95	\$3,611.90
101	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	3,853.0	FOOT	\$2.50	\$9,632.50	\$1.15	\$4,430.95	\$1.15	\$4,430.95	\$1.15	\$4,430.95
102	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	455.0	FOOT	\$1.50	\$682.50	\$1.50	\$682.50	\$1.50	\$682.50	\$1.50	\$682.50
103	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	1,207.0	FOOT	\$3.00	\$3,621.00	\$3.00	\$3,621.00	\$3.00	\$3,621.00	\$3.00	\$3,621.00
104	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	59.0	FOOT	\$9.00	\$531.00	\$5.00	\$295.00	\$5.00	\$295.00	\$5.00	\$295.00
105	78011000	GROOVING FOR RECESSED PAVEMENT MARKING, LETTERS AND SYMBOLS	219.0	SQ FT	\$2.00	\$438.00	\$2.50	\$547.50	\$2.50	\$547.50	\$2.50	\$547.50

Return Bid Tabulation

Project: Wadsworth Rd at Kilbourne Rd Intersection

Section: 17-00033-17-CH

Description: Intersection Improvement w/ turn lanes & sidewalk; Kilbourne Rd Resurfacing

CPMS Pin: B-01576

								[
Item	Pay Code	Description	Quantity	Unit	Eng Es	timate	Campanella	& Sons, Inc.	Payne & D	olan, Inc.	Peter Baker &	Son Company
No.	-	·			Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
106	78011025	GROOVING FOR RECESSED PAVEMENT MARKING 5"	3,802.0	FOOT	\$1.00	\$3,802.00	\$0.50	\$1,901.00	\$0.50	\$1,901.00	\$0.50	\$1,901.00
107	78011030	GROOVING FOR RECESSED PAVEMENT MARKING 6"	3,853.0	FOOT	\$1.25	\$4,816.25	\$0.65	\$2,504.45	\$0.65	\$2,504.45	\$0.65	\$2,504.45
108	78011035	GROOVING FOR RECESSED PAVEMENT MARKING 7"	455.0	FOOT	\$2.50	\$1,137.50	\$0.80	\$364.00	\$0.80	\$364.00	\$0.80	\$364.00
109	78011065	GROOVING FOR RECESSED PAVEMENT MARKING 13"	1,207.0	FOOT	\$5.00	\$6,035.00	\$1.25	\$1,508.75	\$1.25	\$1,508.75	\$1.25	\$1,508.75
110	78011125	GROOVING FOR RECESSED PAVEMENT MARKING 25"	59.0	FOOT	\$10.00	\$590.00	\$2.50	\$147.50	\$2.50	\$147.50	\$2.50	\$147.50
111	7000000	PAVEMENT MARKING REMOVAL - WATER BLASTING	1,780.0	SQ FT	\$2.00	\$3,560.00	\$2.50	\$4,450.00	\$2.50	\$4,450.00	\$3.00	\$5,340.00
112	LC200051	REJECTED LOAD TRANSPORTATION	5.0	LOAD	\$200.00	\$1,000.00	\$0.01	\$0.05	\$153.00	\$765.00	\$0.01	\$0.05
113	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	118,742.0	UNIT	\$1.00	\$118,742.00	\$1.00	\$118,742.00	\$1.00	\$118,742.00	\$1.00	\$118,742.00
114	LC200505	EROSION CONTROL MAT	1,725.0	SQ YD	\$5.00	\$8,625.00	\$7.25	\$12,506.25	\$1.00	\$1,725.00	\$3.00	\$5,175.00
115	LC400100	BUTT JOINT FOR ENTRANCE RESURFACING	150.0	FOOT	\$10.00	\$1,500.00	\$32.65	\$4,897.50	\$0.01	\$1.50	\$32.65	\$4,897.50
116	LC400212	PAVEMENT REPLACEMENT HMA WITH RESURFACING	166.0	SQ YD	\$100.00	\$16,600.00	\$203.00	\$33,698.00	\$95.00	\$15,770.00	\$172.00	\$28,552.00
117	LC500200	INLET BOX STANDARD 542546 (MODIFIED)	1.0	EACH	\$5,500.00	\$5,500.00	\$13,415.00	\$13,415.00	\$7,238.00	\$7,238.00	\$13,415.00	\$13,415.00
118	LC500230	CRATING FOR CONCRETE FLARED END SECTION 24"	3.0	EACH	\$500.00	\$1,500.00	\$900.00	\$2,700.00	\$721.00	\$2,163.00	\$900.00	\$2,700.00

Return Bid Tabulation

Project: Wadsworth Rd at Kilbourne Rd Intersection

Section: 17-00033-17-CH

Description: Intersection Improvement w/ turn lanes & sidewalk; Kilbourne Rd Resurfacing

CPMS Pin: B-01576

ltem	Pay Code	Description	Quantity	Unit	Eng Es	timate	Campanella	& Sons, Inc.	Payne & D	olan, Inc.	Peter Baker &	Son Company
No.	,	2000 pilon	Quantity	onit	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
119	11.500.231	GRATING FOR CONCRETE FLARED END SECTION 27"	1.0	EACH	\$550.00	\$550.00	\$950.00	\$950.00	\$1,068.00	\$1,068.00	\$950.00	\$950.00
120	LC600200	INSTALL SURVEY MONUMENTS	5.0	EACH	\$2,000.00	\$10,000.00	\$530.00	\$2,650.00	\$1,250.00	\$6,250.00	\$530.00	\$2,650.00
121	X0326898	CENTER LINE - RUMBLE STRIP - 16"	11,348.0	FOOT	\$1.50	\$17,022.00	\$0.70	\$7,943.60	\$0.35	\$3,971.80	\$0.90	\$10,213.20
122	X0426200	DEWATERING	1.0	L SUM	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$25,000.00	\$25,000.00	\$5,000.00	\$5,000.00
123	X2010400	STUMP REMOVAL ONLY	404.0	UNIT	\$20.00	\$8,080.00	\$8.00	\$3,232.00	\$8.00	\$3,232.00	\$8.00	\$3,232.00
124	X2200018	ORNAMENTAL FENCE	126.0	FOOT	\$275.00	\$34,650.00	\$145.75	\$18,364.50	\$165.00	\$20,790.00	\$165.00	\$20,790.00
125	X2800500	INLET PROTECTION, SPECIAL	8.0	EACH	\$250.00	\$2,000.00	\$245.00	\$1,960.00	\$125.00	\$1,000.00	\$150.00	\$1,200.00
126	X5429311	TRAVERSABLE PIPE GRATE, SPECIAL	41.0	FOOT	\$200.00	\$8,200.00	\$200.00	\$8,200.00	\$300.00	\$12,300.00	\$200.00	\$8,200.00
127		COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (SPECIAL)	367.0	FOOT	\$70.00	\$25,690.00	\$55.00	\$20,185.00	\$55.00	\$20,185.00	\$84.00	\$30,828.00
128	X6700705	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	12.0	CAL MO	\$2,500.00	\$30,000.00	\$3,000.00	\$36,000.00	\$1,579.69	\$18,956.28	\$1,000.00	\$12,000.00
129	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$150,900.00	\$150,900.00	\$112,000.00	\$112,000.00	\$41,000.00	\$41,000.00	\$304,330.00	\$304,330.00
130		HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 4 INCH	8,138.0	FOOT	\$1.25	\$10,172.50	\$0.30	\$2,441.40	\$0.30	\$2,441.40	\$0.30	\$2,441.40
131	X / XUUX 25	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE-5 INCH	23,162.0	FOOT	\$1.50	\$34,743.00	\$0.36	\$8,338.32	\$0.36	\$8,338.32	\$0.36	\$8,338.32
132	XX000856	MAILBOX REMOVAL AND RELOCATION	27.0	EACH	\$200.00	\$5,400.00	\$331.00	\$8,937.00	\$330.00	\$8,910.00	\$331.00	\$8,937.00
133	XX006522	FURNISH WITNESS POST	3.0	EACH	\$1,500.00	\$4,500.00	\$130.00	\$390.00	\$40.00	\$120.00	\$100.00	\$300.00

Return Bid Tabulation

Project: Wadsworth Rd at Kilbourne Rd Intersection

Section: 17-00033-17-CH

Description: Intersection Improvement w/ turn lanes & sidewalk; Kilbourne Rd Resurfacing

CPMS Pin: B-01576

ltem	Pay Code	Description	Quantity	Unit	Eng Es	timate	Campanella	& Sons, Inc.	Payne & D	olan, Inc.	Peter Baker &	Son Company
No.		•			Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
134	XX006658	FLOCCULATION LOGS	10.0	EACH	\$160.00	\$1,600.00	\$238.00	\$2,380.00	\$1.00	\$10.00	\$50.00	\$500.00
135	XX006659	FLOCCULATION POWDER	10.0	POUND	\$125.00	\$1,250.00	\$31.00	\$310.00	\$1.00	\$10.00	\$20.00	\$200.00
136	X X 1116/20	PERIMETER EROSION BARRIER, ROLLED EXCELSIOR	27,668.0	FOOT	\$4.00	\$110,672.00	\$6.35	\$175,691.80	\$5.00	\$138,340.00	\$4.50	\$124,506.00
137	XX008865	PERMEABLE PLASTIC BERM	308.0	FOOT	\$25.00	\$7,700.00	\$11.00	\$3,388.00	\$15.00	\$4,620.00	\$14.00	\$4,312.00
138	X X (10) (14)	PAVEMENT MARKING REMOVAL (SPECIAL)	8,112.0	SQ FT	\$2.00	\$16,224.00	\$1.00	\$8,112.00	\$0.01	\$81.12	\$1.00	\$8,112.00
139	Z0013797	STABILIZED CONSTRUCTION ENTRANCE	218.0	SQ YD	\$20.00	\$4,360.00	\$0.01	\$2.18	\$16.00	\$3,488.00	\$0.01	\$2.18
140	Z0022800	FENCE REMOVAL	442.0	FOOT	\$10.00	\$4,420.00	\$9.25	\$4,088.50	\$12.00	\$5,304.00	\$9.25	\$4,088.50
141	Z0062450	SAWING PAVEMENT (FULL DEPTH)	26,178.0	FOOT	\$3.00	\$78,534.00	\$2.30	\$60,209.40	\$2.35	\$61,518.30	\$0.50	\$13,089.00
142	Z0062456	TEMPORARY PAVEMENT	1,053.0	SQ YD	\$65.00	\$68,445.00	\$65.70	\$69,182.10	\$65.00	\$68,445.00	\$66.00	\$69,498.00
	Bid Total			\$4,711,986.95		\$4,650,147.28		\$4,556,954.58		\$4,716,967.90		

貒	LakeCo Division of	Dunty Transportation							
C	Section:	Wadsworth Rd at Kilbourne Rd Intersection 17-00033-17-CH Intersection Improvement w/ turn lanes & sidev B-01576	Return valk; Kilbou						
ltem	Pay Code	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	1 49 0040		Quantity	· · · ·	Unit Price	Extnd. Price	Price	Price	Price
1	20101100	TREE TRUNK PROTECTION	35.0	EACH	\$140.00	\$4,900.00	\$110.00	\$172.00	\$130.67
2		TREE ROOT PRUNING	35.0	EACH	\$115.00	\$4,025.00	\$110.00	\$110.00	\$110.00
3	20101300	TREE PRUNING (1 TO 10 INCH DIAMETER)	17.0	EACH	\$125.00	\$2,125.00	\$45.00	\$45.00	\$45.00
4	20101350	TREE PRUNING (OVER 10 INCH DIAMETER)	18.0	EACH	\$180.00	\$3,240.00	\$180.00	\$180.00	\$180.00
5	20200100	EARTH EXCAVATION	4,516.0	CU YD	\$35.00	\$158,060.00	\$37.00	\$54.20	\$48.47
6	20201200	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL	4,275.0	CU YD	\$35.00	\$149,625.00	\$23.00	\$50.55	\$41.37
7	20400800	FURNISHED EXCAVATION	250.0	CU YD	\$35.00	\$8,750.00	\$27.00	\$66.00	\$40.00
8	20800150	TRENCH BACKFILL	176.0	CU YD	\$50.00	\$8,800.00	\$70.00	\$79.60	\$76.40
9	21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	5,107.0	SQ YD	\$2.50	\$12,767.50	\$2.55	\$4.00	\$3.03
10	21101600	TOPSOIL FURNISH AND PLACE, VARIABLE DEPTH	827.0	SQ YD	\$10.00	\$8,270.00	\$0.10	\$36.70	\$14.27
11	21101615	TOPSOIL FURNISH AND PLACE, 4"	15,259.0	SQ YD	\$6.00	\$91,554.00	\$0.10	\$4.00	\$1.40
12	21301052	EXPLORATION TRENCH 52" DEPTH	100.0	FOOT	\$50.00	\$5,000.00	\$62.00	\$95.00	\$84.00
13	21400100	GRADING AND SHAPING DITCHES	599.0	FOOT	\$20.00	\$11,980.00	\$12.00	\$38.45	\$29.63

業	LakeCo	Dunty Transportation										
	Return Bid Details Project: Wadsworth Rd at Kilbourne Rd Intersection Section: 17-00033-17-CH Description: Intersection Improvement w/ turn lanes & sidewalk; Kilbourne Rd Resurfacing CPMS Pin: B-01576 Let Date: 2/7/2023											
ltem No.	Pay Code	Description	Quantity	Unit	Eng E Unit Price	stimate Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price			
14	25000210	SEEDING, CLASS 2A	2.3	ACRE	\$4,950.00	\$11,385.00	\$2,420.00	\$3,600.00	\$3,006.67			
15	25000300	SEEDING, CLASS 3	0.5	ACRE	\$3,600.00	\$1,800.00	\$2,420.00	\$5,000.00	\$3,473.33			
16	25000312	SEEDING, CLASS 4A	0.3	ACRE	\$2,500.00	\$750.00	\$2,420.00	\$4,900.00	\$3,440.00			
17	25000314	SEEDING, CLASS 4B	0.3	ACRE	\$6,400.00	\$1,920.00	\$2,420.00	\$4,000.00	\$3,406.67			
18	25000400	NITROGEN FERTILIZER NUTRIENT	306.0	POUND	\$3.00	\$918.00	\$1.00	\$3.00	\$2.00			
19	25000600	POTASSIUM FERTILIZER NUTRIENT	306.0	POUND	\$3.00	\$918.00	\$1.00	\$3.00	\$2.00			
20	25100630	EROSION CONTROL BLANKET	16,456.0	SQ YD	\$2.00	\$32,912.00	\$1.20	\$8.05	\$3.55			
21	28000250	TEMPORARY EROSION CONTROL SEEDING	32.0	POUND	\$3.00	\$96.00	\$0.10	\$20.00	\$10.03			
22	28000305	TEMPORARY DITCH CHECKS	308.0	FOOT	\$12.00	\$3,696.00	\$12.50	\$15.00	\$13.83			
23	28000400	PERIMETER EROSION BARRIER	200.0	FOOT	\$10.00	\$2,000.00	\$3.50	\$5.30	\$4.60			
24	28000510		8.0	EACH	\$200.00	\$1,600.00	\$190.00	\$261.00	\$225.33			
25	28001100	TEMPORARY EROSION CONTROL BLANKET	13,517.0	SQ YD	\$1.00	\$13,517.00	\$0.01	\$0.50	\$0.24			
26	28100109	STONE RIPRAP, CLASS A5	81.0	SQ YD	\$65.00	\$5,265.00	\$170.00	\$263.00	\$232.00			
27	28200200	FILTER FABRIC	220.0	SQ YD	\$15.00	\$3,300.00	\$3.00	\$3.15	\$3.10			
28	30300112	AGGREGATE SUBGRADE IMPROVEMENT 12"	4,777.0	SQ YD	\$20.00	\$95,540.00	\$20.00	\$30.40	\$26.93			

業	LakeCo Division of	Dunty Transportation							
	Section:		Return walk; Kilbou						
ltem No.	Pay Code	Description	Quantity	Unit	Eng Es Unit Price	stimate Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
29	35101600	AGGREGATE BASE COURSE, TYPE B 4"	914.0	SQ YD	\$8.00	\$7,312.00	\$12.00	\$16.95	\$15.30
30	35101800	AGGREGATE BASE COURSE, TYPE B 6"	18,643.0	SQ YD	\$10.00	\$186,430.00	\$14.70	\$15.00	\$14.90
31	40201000	AGGREGATE FOR TEMPORARY ACCESS	490.0	TON	\$20.00	\$9,800.00	\$0.01	\$40.00	\$13.34
32	40600290	BITUMINOUS MATERIALS (TACK COAT)	33,641.0	POUND	\$1.00	\$33,641.00	\$0.01	\$0.01	\$0.01
33	40600370	LONGITUDINAL JOINT SEALANT	18,021.0	FOOT	\$3.00	\$54,063.00	\$2.85	\$4.55	\$3.97
34	40600400	MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	10.0	TON	\$300.00	\$3,000.00	\$200.00	\$500.00	\$300.00
35	40600900	HOT-MIX ASPHALT BINDERCOURSE (HAND METHOD), N50	10.0	TON	\$300.00	\$3,000.00	\$200.00	\$500.00	\$300.00
36	40603080	HOT-MIX ASPHALT BINDER COURSE, IL- 19.0, N50	9,140.0	TON	\$90.00	\$822,600.00	\$74.00	\$81.00	\$76.33
37	40603085	HOT-MIX ASPHALT BINDER COURSE, IL- 19.0, N70	622.0	TON	\$95.00	\$59,090.00	\$85.50	\$131.80	\$116.37
38	40603200	POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50	1,675.0	TON	\$95.00	\$159,125.00	\$109.40	\$120.00	\$112.93
39	40604060	HOT-MIX ASPHALT SURFACE COURSE, IL- 9.5, MIX "D", N50	4,824.0	TON	\$90.00	\$434,160.00	\$85.00	\$89.00	\$86.33
40	40604062	HOT-MIX ASPHALT SURFACE COURSE, IL- 9.5, MIX "D", N70	358.0	TON	\$95.00	\$34,010.00	\$92.00	\$94.80	\$93.87
41	42001300	PROTECTIVE COAT	1,461.0	SQ YD	\$2.00	\$2,922.00	\$0.01	\$2.00	\$1.34

業	LakeCo Division of	Dunty Transportation							
C	Section:		Return						
ltem No.	Pay Code	Description	Quantity	Unit	Eng Es Unit Price	stimate Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
42	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	7,463.0	SQ FT	\$8.00	\$59,704.00	\$8.25	\$9.00	\$8.50
43	42400300	PORTLAND CEMENT CONCRETE SIDEWALK 6 INCH	204.0	SQ FT	\$10.00	\$2,040.00	\$8.95	\$9.50	\$9.13
44	42400800	DETECTABLE WARNINGS	10.0	SQ FT	\$50.00	\$500.00	\$37.00	\$40.00	\$38.00
45	44000100	PAVEMENT REMOVAL	11,540.0	SQ YD	\$20.00	\$230,800.00	\$11.90	\$19.00	\$15.05
46	44000158	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/4"	2,368.0	SQ YD	\$3.50	\$8,288.00	\$2.70	\$4.50	\$3.90
47	44000161	HOT-MIX ASPHALT SURFACE REMOVAL, 3"	31,851.0	SQ YD	\$4.00	\$127,404.00	\$3.60	\$6.75	\$4.67
48	44000200	DRIVEWAY PAVEMENT REMOVAL	1,652.0	SQ YD	\$15.00	\$24,780.00	\$8.00	\$23.00	\$15.73
49	44000400	GUTTER REMOVAL	122.0	FOOT	\$10.00	\$1,220.00	\$6.65	\$12.00	\$8.43
50	44000500	COMBINATION CURB AND GUTTER REMOVAL	2,088.0	FOOT	\$10.00	\$20,880.00	\$5.00	\$5.70	\$5.47
51	44000600	SIDEWALK REMOVAL	187.0	SQ FT	\$10.00	\$1,870.00	\$2.50	\$4.00	\$3.00
52	44201785	CLASS D PATCHES, TYPE I, 12 INCH	171.0	SQ YD	\$120.00	\$20,520.00	\$40.00	\$95.00	\$58.33
53	44201789	CLASS D PATCHES, TYPE II, 12 INCH	257.0	SQ YD	\$120.00	\$30,840.00	\$40.00	\$95.00	\$58.33
54	44201794	CLASS D PATCHES, TYPE III, 12 INCH	770.0	SQ YD	\$120.00	\$92,400.00	\$40.00	\$95.00	\$58.33

業	LakeCo Division of	ounty Transportation										
	Return Bid Details Project: Wadsworth Rd at Kilbourne Rd Intersection Section: 17-00033-17-CH Description: Intersection Improvement w/ turn lanes & sidewalk; Kilbourne Rd Resurfacing CPMS Pin: B-01576 Let Date: 2/7/2023											
ltem No.	Pay Code	Description	Quantity	Unit	Eng E Unit Price	stimate Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price			
55	44201796	CLASS D PATCHES, TYPE IV, 12 INCH	513.0	SQ YD	\$120.00	\$61,560.00	\$40.00	\$95.00	\$58.33			
56	48101200	AGGREGATE SHOULDERS, TYPE B	2,593.0	TON	\$40.00	\$103,720.00	\$23.00	\$44.00	\$30.00			
57	50105220	PIPE CULVERT REMOVAL	289.0	FOOT	\$25.00	\$7,225.00	\$20.00	\$25.00	\$21.67			
58	52200800	SEGMENTAL CONCRETE BLOCK WALL	1,350.0	SQ FT	\$50.00	\$67,500.00	\$54.67	\$64.75	\$59.81			
59	6/11/1266/	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 12"	4.0	EACH	\$1,050.00	\$4,200.00	\$1,329.00	\$1,730.00	\$1,596.33			
60		PRECAST REINFORCED CONCRETE FLARED END SECTIONS 24"	3.0	EACH	\$1,400.00	\$4,200.00	\$1,667.00	\$2,640.00	\$2,315.67			
61	61010670	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 27"	1.0	EACH	\$1,800.00	\$1,800.00	\$1,842.00	\$2,730.00	\$2,434.00			
62	6/11/12/201	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 36"	2.0	EACH	\$2,500.00	\$5,000.00	\$1,991.00	\$4,650.00	\$3,763.67			
63	54262712	METAL FLARED END SECTIONS 12"	2.0	EACH	\$650.00	\$1,300.00	\$275.00	\$561.00	\$370.33			
64	54262715	METAL FLARED END SECTIONS 15"	1.0	EACH	\$700.00	\$700.00	\$320.00	\$745.00	\$461.67			
65	54262718	METAL FLARED END SECTIONS 18"	3.0	EACH	\$1,950.00	\$5,850.00	\$375.00	\$660.00	\$470.00			
66	542A0232	PIPE CULVERTS, CLASS A, TYPE 1 27"	58.0	FOOT	\$120.00	\$6,960.00	\$133.00	\$168.00	\$156.33			
67	542A0241	PIPE CULVERTS, CLASS A, TYPE 1 36"	53.0	FOOT	\$175.00	\$9,275.00	\$180.00	\$210.30	\$200.20			
68	542A1063	PIPE CULVERTS, CLASS A, TYPE 2 18"	4.0	FOOT	\$90.00	\$360.00	\$256.10	\$1,169.00	\$560.40			

業	LakeCo Division of	Dunty Transportation										
C	Return Bid Details Project: Wadsworth Rd at Kilbourne Rd Intersection Section: 17-00033-17-CH Description: Intersection Improvement w/ turn lanes & sidewalk; Kilbourne Rd Resurfacing CPMS Pin: B-01576 Let Date: 2/7/2023											
ltem No.	Pay Code	Description	Quantity	Unit	Eng E Unit Price	stimate Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price			
69	542A1069	PIPE CULVERTS, CLASS A, TYPE 2 24"	57.0	FOOT	\$105.00	\$5,985.00	\$134.00	\$164.35	\$154.23			
70	542D0217	PIPE CULVERTS, CLASS D, TYPE 1 12"	38.0	FOOT	\$80.00	\$3,040.00	\$105.00	\$145.00	\$131.67			
71	542D0220	PIPE CULVERTS, CLASS D, TYPE 1 15"	45.0	FOOT	\$85.00	\$3,825.00	\$87.00	\$173.30	\$144.53			
72	542D0223	PIPE CULVERTS, CLASS D, TYPE 1 18"	52.0	FOOT	\$90.00	\$4,680.00	\$96.00	\$194.35	\$161.57			
73	550A0050	STORM SEWERS, CLASS A, TYPE 1 12"	277.0	FOOT	\$85.00	\$23,545.00	\$76.95	\$86.00	\$79.97			
74	550A0070	STORM SEWERS, CLASS A, TYPE 1 15"	115.0	FOOT	\$95.00	\$10,925.00	\$85.00	\$157.00	\$109.00			
75	55100700	STORM SEWER REMOVAL 15"	102.0	FOOT	\$21.00	\$2,142.00	\$26.00	\$28.00	\$27.33			
76	60100905	PIPE DRAINS 4"	100.0	FOOT	\$45.00	\$4,500.00	\$37.00	\$51.00	\$41.67			
77	60100915	PIPE DRAINS 6"	100.0	FOOT	\$40.00	\$4,000.00	\$44.00	\$70.00	\$52.67			
78	60108104	PIPE UNDERDRAINS, TYPE 1, 4"	2,959.0	FOOT	\$20.00	\$59,180.00	\$5.70	\$16.00	\$9.13			
79	60201340	CATCH BASINS, TYPE A, 4'-DIAMETER, TYPE 24 FRAME AND GRATE	1.0	EACH	\$3,800.00	\$3,800.00	\$4,021.00	\$4,126.00	\$4,056.00			
80	60208240	CATCH BASINS, TYPE C, TYPE 24 FRAME AND GRATE	4.0	EACH	\$2,000.00	\$8,000.00	\$2,721.00	\$2,837.00	\$2,759.67			
81	60250200	CATCH BASINS TO BE ADJUSTED	1.0	EACH	\$730.00	\$730.00	\$500.00	\$1,145.00	\$715.00			
82	60260100	INLETS TO BE ADJUSTED	3.0	EACH	\$500.00	\$1,500.00	\$500.00	\$762.00	\$587.33			
83	60500040	REMOVING MANHOLES	1.0	EACH	\$320.00	\$320.00	\$700.00	\$1,687.00	\$1,029.00			

業	LakeCo Division of	Dunty Transportation										
	Return Bid Details Project: Wadsworth Rd at Kilbourne Rd Intersection Section: 17-00033-17-CH Description: Intersection Improvement w/ turn lanes & sidewalk; Kilbourne Rd Resurfacing CPMS Pin: B-01576 Let Date: 2/7/2023											
ltem No.	Pay Code	Description	Quantity	Unit	Eng E Unit Price	stimate Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price			
84	60605000	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24	1,412.0	FOOT	\$35.00	\$49,420.00	\$48.00	\$52.00	\$50.67			
85	64200108	SHOULDER RUMBLE STRIPS, 8 INCH	23,162.0	FOOT	\$1.00	\$23,162.00	\$0.25	\$0.70	\$0.48			
86	66900200	NON-SPECIAL WASTE DISPOSAL	15.0	CU YD	\$100.00	\$1,500.00	\$45.00	\$108.00	\$87.00			
87	66900530	SOIL DISPOSAL ANALYSIS	1.0	EACH	\$1,000.00	\$1,000.00	\$1,400.00	\$1,450.00	\$1,416.67			
88	66901001	REGULATED SUBSTANCES PRE- CONSTRUCTION PLAN	1.0	L SUM	\$1,500.00	\$1,500.00	\$2,400.00	\$3,400.00	\$3,066.67			
89	66901003	REGULATED SUBSTANCES FINAL CONSTRUCTION REPORT	1.0	L SUM	\$500.00	\$500.00	\$500.00	\$2,000.00	\$1,000.00			
90	66901006	REGULATED SUBSTANCES MONITORING	1.0	CAL DAY	\$1,500.00	\$1,500.00	\$800.00	\$850.00	\$816.67			
91	67100100	MOBILIZATION	1.0	L SUM	\$259,000.00	\$259,000.00	\$285,337.00	\$453,000.00	\$379,445.67			
92	70300100	SHORT TERM PAVEMENT MARKING	10,671.0	FOOT	\$1.00	\$10,671.00	\$0.01	\$0.50	\$0.34			
93	70300150	SHORT TERM PAVEMENT MARKING REMOVAL	1,174.0	SQ FT	\$1.00	\$1,174.00	\$0.01	\$1.50	\$0.51			
94	70307100	TEMPORARY PAVEMENT MARKING LETTERS AND SYMBOLS-TYPE IV TAPE	72.8	SQ FT	\$4.00	\$291.20	\$3.30	\$7.50	\$6.10			
95	70307120	TEMPORARY PAVEMENT MARKING - LINE 4" - TYPE IV TAPE	12,249.0	FOOT	\$1.50	\$18,373.50	\$1.10	\$1.15	\$1.13			
96	70307125	TEMPORARY PAVEMENT MARKING-LINE 5"-TYPE IV TAPE	9,093.0	FOOT	\$1.50	\$13,639.50	\$1.25	\$1.45	\$1.38			

*	LakeCo	Dunty Transportation											
	Return Bid Details Project: Wadsworth Rd at Kilbourne Rd Intersection Section: 17-00033-17-CH Description: Intersection Improvement w/ turn lanes & sidewalk; Kilbourne Rd Resurfacing CPMS Pin: B-01576 Let Date: 2/7/2023												
ltem No.	Pay Code	Description	Quantity	Unit	Eng E Unit Price	stimate Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price				
97	70307130	TEMPORARY PAVEMENT MARKING-LINE 6"-TYPE IV TAPE	215.0	FOOT	\$2.00	\$430.00	\$1.35	\$2.00	\$1.78				
98	70307210	TEMPORARY PAVEMENT MARKING - LINE 24"- TYPE IV TAPE	50.0	FOOT	\$7.00	\$350.00	\$6.60	\$7.50	\$7.20				
99	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	219.0	SQ FT	\$6.00	\$1,314.00	\$5.00	\$5.00	\$5.00				
100	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	3,802.0	FOOT	\$1.00	\$3,802.00	\$0.95	\$0.95	\$0.95				
101	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	3,853.0	FOOT	\$2.50	\$9,632.50	\$1.15	\$1.15	\$1.15				
102	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	455.0	FOOT	\$1.50	\$682.50	\$1.50	\$1.50	\$1.50				
103	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	1,207.0	FOOT	\$3.00	\$3,621.00	\$3.00	\$3.00	\$3.00				
104	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	59.0	FOOT	\$9.00	\$531.00	\$5.00	\$5.00	\$5.00				
105	78011000	GROOVING FOR RECESSED PAVEMENT MARKING, LETTERS AND SYMBOLS	219.0	SQ FT	\$2.00	\$438.00	\$2.50	\$2.50	\$2.50				
106	78011025	GROOVING FOR RECESSED PAVEMENT MARKING 5"	3,802.0	FOOT	\$1.00	\$3,802.00	\$0.50	\$0.50	\$0.50				
107	78011030	GROOVING FOR RECESSED PAVEMENT MARKING 6"	3,853.0	FOOT	\$1.25	\$4,816.25	\$0.65	\$0.65	\$0.65				

業	LakeCo Division of	Dunty Transportation										
C	Return Bid Details Project: Wadsworth Rd at Kilbourne Rd Intersection Section: 17-00033-17-CH Description: Intersection Improvement w/ turn lanes & sidewalk; Kilbourne Rd Resurfacing CPMS Pin: B-01576 Let Date: 2/7/2023											
ltem No.	Pay Code	Description	Quantity	Unit	Eng E Unit Price	stimate Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price			
108	78011035	GROOVING FOR RECESSED PAVEMENT MARKING 7"	455.0	FOOT	\$2.50	\$1,137.50	\$0.80	\$0.80	\$0.80			
109	78011065	GROOVING FOR RECESSED PAVEMENT MARKING 13"	1,207.0	FOOT	\$5.00	\$6,035.00	\$1.25	\$1.25	\$1.25			
110	78011125	GROOVING FOR RECESSED PAVEMENT MARKING 25"	59.0	FOOT	\$10.00	\$590.00	\$2.50	\$2.50	\$2.50			
111	78300202	PAVEMENT MARKING REMOVAL - WATER BLASTING	1,780.0	SQ FT	\$2.00	\$3,560.00	\$2.50	\$3.00	\$2.67			
112	LC200051	REJECTED LOAD TRANSPORTATION	5.0	LOAD	\$200.00	\$1,000.00	\$0.01	\$153.00	\$51.01			
113	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	118,742.0	UNIT	\$1.00	\$118,742.00	\$1.00	\$1.00	\$1.00			
114	LC200505	EROSION CONTROL MAT	1,725.0	SQ YD	\$5.00	\$8,625.00	\$1.00	\$7.25	\$3.75			
115	LC400100	BUTT JOINT FOR ENTRANCE RESURFACING	150.0	FOOT	\$10.00	\$1,500.00	\$0.01	\$32.65	\$21.77			
116	LC400212	PAVEMENT REPLACEMENT HMA WITH RESURFACING	166.0	SQ YD	\$100.00	\$16,600.00	\$95.00	\$203.00	\$156.67			
117	LC500200	INLET BOX STANDARD 542546 (MODIFIED)	1.0	EACH	\$5,500.00	\$5,500.00	\$7,238.00	\$13,415.00	\$11,356.00			
118	LC500230	CRATING FOR CONCRETE FLARED END SECTION 24"	3.0	EACH	\$500.00	\$1,500.00	\$721.00	\$900.00	\$840.33			
119	LC500231	GRATING FOR CONCRETE FLARED END SECTION 27"	1.0	EACH	\$550.00	\$550.00	\$950.00	\$1,068.00	\$989.33			

業	LakeCo	Dunty Transportation							
Ľ	Section:	Wadsworth Rd at Kilbourne Rd Intersection 17-00033-17-CH Intersection Improvement w/ turn lanes & sidev B-01576	Return walk; Kilbou						
ltem No.	Pay Code	Description	Quantity	Unit	Eng Es Unit Price	timate Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
120	LC600200	INSTALL SURVEY MONUMENTS	5.0	EACH	\$2,000.00	\$10,000.00	\$530.00	\$1,250.00	\$770.00
121	X0326898	CENTER LINE - RUMBLE STRIP - 16"	11,348.0	FOOT	\$1.50	\$17,022.00	\$0.35	\$0.90	\$0.65
122	X0426200	DEWATERING	1.0	L SUM	\$10,000.00	\$10,000.00	\$5,000.00	\$25,000.00	\$11,666.67
123	X2010400	STUMP REMOVAL ONLY	404.0	UNIT	\$20.00	\$8,080.00	\$8.00	\$8.00	\$8.00
124	X2200018	ORNAMENTAL FENCE	126.0	FOOT	\$275.00	\$34,650.00	\$145.75	\$165.00	\$158.58
125	X2800500	INLET PROTECTION, SPECIAL	8.0	EACH	\$250.00	\$2,000.00	\$125.00	\$245.00	\$173.33
126	X5429311	TRAVERSABLE PIPE GRATE, SPECIAL	41.0	FOOT	\$200.00	\$8,200.00	\$200.00	\$300.00	\$233.33
127	YENENDED	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (SPECIAL)	367.0	FOOT	\$70.00	\$25,690.00	\$55.00	\$84.00	\$64.67
128		ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	12.0	CAL MO	\$2,500.00	\$30,000.00	\$1,000.00	\$3,000.00	\$1,859.90
129	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$150,900.00	\$150,900.00	\$41,000.00	\$304,330.00	\$152,443.33
130	¥ / Q1111Q16	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 4 INCH	8,138.0	FOOT	\$1.25	\$10,172.50	\$0.30	\$0.30	\$0.30
131		HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE-5 INCH	23,162.0	FOOT	\$1.50	\$34,743.00	\$0.36	\$0.36	\$0.36
132	XX000856	MAILBOX REMOVAL AND RELOCATION	27.0	EACH	\$200.00	\$5,400.00	\$330.00	\$331.00	\$330.67

**	LakeCo Division of	Dunty Transportation							
C	Section:		Return walk; Kilbou						
ltem No.	Pay Code	Description	Quantity	Unit	Eng E Unit Price	stimate Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
133	XX006522	FURNISH WITNESS POST	3.0	EACH	\$1,500.00	\$4,500.00	\$40.00	\$130.00	\$90.00
134	XX006658	FLOCCULATION LOGS	10.0	EACH	\$160.00	\$1,600.00	\$1.00	\$238.00	\$96.33
135	XX006659	FLOCCULATION POWDER	10.0	POUND	\$125.00	\$1,250.00	\$1.00	\$31.00	\$17.33
136	XX006729	PERIMETER EROSION BARRIER, ROLLED EXCELSIOR	27,668.0	FOOT	\$4.00	\$110,672.00	\$4.50	\$6.35	\$5.28
137	XX008865	PERMEABLE PLASTIC BERM	308.0	FOOT	\$25.00	\$7,700.00	\$11.00	\$15.00	\$13.33
138	XX009142	PAVEMENT MARKING REMOVAL (SPECIAL)	8,112.0	SQ FT	\$2.00	\$16,224.00	\$0.01	\$1.00	\$0.67
139	Z0013797	STABILIZED CONSTRUCTION ENTRANCE	218.0	SQ YD	\$20.00	\$4,360.00	\$0.01	\$16.00	\$5.34
140	Z0022800	FENCE REMOVAL	442.0	FOOT	\$10.00	\$4,420.00	\$9.25	\$12.00	\$10.17
141	Z0062450	SAWING PAVEMENT (FULL DEPTH)	26,178.0	FOOT	\$3.00	\$78,534.00	\$0.50	\$2.35	\$1.72
142	Z0062456	TEMPORARY PAVEMENT	1,053.0	SQ YD	\$65.00	\$68,445.00	\$65.00	\$66.00	\$65.57
		Bid Total				\$4,711,986.95			